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SVVFER SV FERAER 108,000 203 [EE:] —REENBLESXE [LH 4m |7KE =
KFEMIFR228%56 1.2:1 BRELI TS iE HR 1EE %R
(8) - 1 w2 Tk 3.6km | ( 60, 200)
SWV-FEHAER 98,000 165 [EE:] —REEOPICEREE, |dE 5m |7KE [
RFEXNIFHT137486 1:1.2 EMENRONLHEE |thiE HR 1EE %[5
(8) - 2 Wi Eihig Tk 2.3km [ ( 50, 100)
SLVFEHAER 104,000| 158 = —REENELISNE (FAE 4m k& =R
KERBFAMFEAH696%F 106 1:1.2 e i HR 1thE
(8) -3 w2 Tk 1.4km | ( 60, 200)
SV FEHAER 114,000( 100 [EE:] INRBEEEODIZT/N— [dLE 4m | K& &R
AKFIERFHRFIR2511%6 1:1.5 FOEEBZELRONDME |HE HR 1hE
(8) - 4 w2 Eihig Tk 800m | ( 60, 200)
SLV-FEHAER 113,000 220 F=E FEHARONEG—REE |F 4m |KE BAXE
=56 TH1247%6 1:15 g e HR 2 %R
(8) -5 LS2 Tk 1.2km | ( 60, 200)
SLVFERAER 114,000 110 [EE:] INRE—RREENELIL |7 6m |K&E &R
* AFLEF EA436%71 1.2:1 SEE i i H=R 1K=
(8) -6 w2 Tk 700m | ( 50, 100)
SWV-FEHAER 119,000 198 [EE:] —BEEDOFIT/NIES (B 45m [KE BAXE
ERIET665%40 1:1.2 FIS—hERRONDEE [fhE HR #ET
(8) - 7 w2 gl Tk 900m | ( 60, 200)
SLV-FEHAER 41,800 1,799 [EE:] A ZLNRIC, BRE |1 4m |KiE BRE |T#ARX]
KRFHETFRIR1707F 1:1.5 B, —BEENEETD |mE
(2) -8 w2 FE 2.7km | ( 60, 200)
SLV-FEHAER 169,000 164 [EE:] —REENBELLESXE |f 6m |K&E BAXE
BHAEITHS5%9 1:1.5 BRELI-EEMIE i HR 2t #Rf
(8) -9 w2 Tk 950m | (60, 200)
SN -FEHAER 176,000 342 | REFs (2EAME |DEBOEHEHA. &K X 11m(7k& B
AFEEFTHEF1722%34 12 |[EE BIE. BEMGEORLH (BE HR 2R
() 5- 1 s2 NI e HEE | FK 70m | ( 60, 200)
SN FETAEK 159,000( 2,521 B4 SB[ BRQERDVISOERE |/F 31m |KiE BAE
BEAEITE7E45 21 |*T8 [SOEsHEGELED (@ H2 EHER
(8)5- 2 s2 NHERRE R =HE | FK 380m | ( 60, 200)
SLVFEL [ FERER 197,000 159 [EE:] PIRE—REEODICZE (4t 6m |/KE Ea=)
T 2E12TB40%F 124 1:1.5 RSN DREEALL |ThE AR 1%
(8) - 1 w2 F-E Bt Tk 600m | ( 50, 100)
SLVFERLR 251,000 209 [EE:] PHRE—REENZVK (A 6m |7KE Ea=)
* T+ EET1 TE39%&10 1:2 BEERELI T T i AR 2thE
(8) - 2 w2 Tk 450m | (60, 200)
SLVFERLR 143,000 180 [EE:] FHRE—REEDOENE |BHE 6m |7KE =5
HHAET1THE362%F10 1:1.2 HMENRONIREER |thE 1E2
(2) -3 W2 ELT-fEE Tk 1.5km | ( 60, 200)
SLVFERLR 163,000 142 [EE:] —BiEEEPLCTI A (E 6m |K&E RER
ERET2TH101%8 1:1.2 VENRRIONIEE |thE HR 152
(8) - 4 LS3 g Tk 350m | ( 60, 200)
SWVFERILR 113,000( 158 [EE:] hIRE—REESESL (4t 4.6m K& =5
ZRAT79%25 1:1.2 SEAEEAE EHhig i AR 1thE
(8) -5 w2 Tk 1.6km | ( 60, 200)
SLVFERLR 188,000 187 [EE:] hIRE—REE, 7/ FE 4m |KE =5
ZRET1&E 104 1:1.2 ENRETHEEME  |HhE AR 2B
(8) -6 w2 Tk 500m | ( 60, 200)
SLVFERLR 158,000 209 [EE:] PIRREO—RBREENZL (X 4m [JK3E B
BiE1 T EH800%&S51 1:1 REERELI-FEME |HhE HR 1HhE %[5
(8) -7 LS2 Tk 800m | ( 60, 200)
SWVFERLR 189,000 147 [EE:] —REEDIFH., EXEBE |AE 5.4m |7KiE =
#i5|BT2 T B55%1 1:2 EENRBETHETHE |HE Az 1R %
(8) -8 w2 Tk 2.2km | (60, 200)
SWVFERLR 165000 179 [EE:] —REE. TA—FENER BT 4m | K& =
A4BET1303F 244 1:1.2 T HiEEHIE i HA 185
(8) -9 LS2 Tk 1.3km | ( 50, 100)
SV FERLR 182,000( 165 [EE:] —MBEE. Tl avEN [dE 6m | /K& mE=
RARBI2TEHS517%2 1:2 RET A EHE i Az #T
(8) - 10 w2 Tk 600m | ( 60, 200)
SW-FEMER 210,000| 107 [EWFEE |NRESH. ERAMENE (B 8m |/KE A
BiEERT2 T B789%3 1:15 [E T HiEMEE i i AR SERT RS
(8)5- 1 W2 TK 130m | (80, 200)
ELVERLR 172,000 316 *Hm GF (HXFEREEMAR (R 202mKkE =45
ERET4TE16%25 115 [FAPES e —fEsSsRa @ R
(8)5- 2 s3 ¥ HHIRE R Tk 630m | ( 60, 200)
SLVFERLR 294,000 198 ESERL |DEBOEHFEESH |BE 10m|7K & RKEAE
BHETI0ES 12 |BEEE |[EbtsEmEEmE  |@a HR 1EE
(8)5- 3 S3 TK 130m | (60, 200)
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SWEFEXRE[SVVEEFTRER 257,000 233 [EE:] PIRE—REENZOEL [ 5m |7KE =
* KRET1T B282%24} 1:1 RRAE E i e HR 21X #ER
(8) - 1 w2 Tk 1.2km | (60, 200)
SWVFETKRER 304,000 165 [EE:] PIRE—REENZOEA [E 45m [kKE&E =
HABT4TBE824%6 2:1 Ep T Eithig iE HR 1EE #R
(8) - 2 S2 Tk 1km | ( 60, 200)
SLVFETKRER 238,000 218 [EE:] FIRE—REEORIZT LA 45m|kE =
JEDOWET1 T B237&F24 1.2:1 N—ENRONDEEH |fE HR 1EE
(8) - 3 s2 o] Tk 1.5km | ( 60, 200)
SVVEFETRER 119,000| 196 F=E —REENBVHEEE B 4m [kE xXE
=i84TH856%2 1:2 Hhigh HE AR 2rhE #[f
(8) - 4 w2 Tk 2.6km | (60, 200)
SWVFETKRER 243,000 218 [EE:] hHRE—REENELY |F 4m K& PNEAE]
FHERT1 T HO9&F 1:1.5 SRS EHhig i AR 1R &G
(8) -5 LS2 Tk 300m | ( 60, 200)
SVVEFETRER 246,000 158 F=E —fRIEE. T/A—FENE R 5m |7KE SiEEY
KBTS TH195%2 1:15 T HiEEHIE HiE HR - 1ER %5
(8) -6 LS2 Tk 450m | (60, 200)
SWVFETKRER 339,000 119 [EE:] fMNRE—REENED [F 4.5m [kKE =
E8E1THE320%2 1:1 it SR ES A E iz i HA 152
(8) -7 LS2 Tk 1.2km | ( 60, 200)
SWVFETKRER 312,000 109 [EE:] fMNRE—REENED (R 4m [JK3E Sv=FE
XBET2T H443% 124 1:2 i SNEAEH L E E b HiE AR HERID 1R
(8) -8 w2 Tk 750m | (60, 200)
SLVFETKRER 158,000 198 [EE:] fMREO—REEDD [t 45m [kKE&E =
=1 TH1252%24+ 1:2 ST R—FENROENDE |[TE HZ 2mhE #[f
(8) - 9 w2 Eihig Tk 2.1km [ ( 60, 200)
SLVFETKRER 1,840,000 371 EHES |TEEOEHEEMEL &’ 16m |7k =
=ET1 TEH86%E1 1:2.5 |#FT MEL I SEEGEEM |BE H=R SE RiD4
(8)5- 1 Ssrcs  |E Tk 300m | ( 80, 600)
SWVFETRER 264,000 102 EHA |NEEH. EHAELSIE (B 11m |7k =
RET2TH136%4 1.2:1 Bl S ER AR R i B2iE HR R R
(8)5- 2 S3 TK 1.1km | ( 80, 200)
SVEFETRER 2,210,000| 176 [EHEE |REEDESH. SHME & 20m [/K&E XE
HAET2T BH4%9 12 |#AER %N =X NS E S chc N P HR SERA]
(8)5- 3 RC5 TK 250m | ( 80, 400)
SWVFETKRER 572,000| 419 EHERSE |DEBOEH. BHA.E|dE 16m|7K:E Sv=FE
HHET4TH13%2 1:1.2 | EENEETIREEX |28 H2 FED  |me
(8)5- 4 s9 gl Tk 600m | ( 80, 400)
SVEFETRER 1,010,000 167 EHRS |TEEOEH. BHHE (@ 27m |/K&E xXE
* APFIET3 T BH59% 1 1:1.2 |#FT MNEVERATREYE RS |8 Az ok
(B)5- 5 RC7 TK 500m | ( 80, 400)
SWVFETKRER 1,460,000 1,247 EXAT  |SBOBHA. EHER (X 25m| /K& SvFE
EHET4T H262% 1654 41 FEEDEFIMEBDOEHN (B2H HR HELD | A
(8)5- 6 SRC10F1B |5 I S ER#R A S g Tk 160m | ( 80, 500)
SWERB|EVEFEFTRIBE 121,000 175 F=E —REENBELESNSE B 4m K& tB8
AFEBFILEE1225%51 1:1 £t HiE HR 2thE
(8) - 1 w2 Tk 600m | ( 60, 200)
SWVFETRIBER 119,000 132 [EE:] FNMREO—REENS [FEfE 3.8m[KkE A#1H
AFHEET1 TEH637%6 1:1.2 LME g i HZR 185
(8) - 2 w2 Tk 1.4km | ( 50, 100)
SWVFETRIER 99,000 216 [EE:] —BEESELAESEE (B 42m |/KE deimFn
AFHBEFRKTBF1325%6 2:1 Hhigh THiE HR 1EE
(8) -3 w2 Tk 4.4km | (50, 100)
SWVFETRIBER 150,000 281 [EE:] PIEREO—RBEENSBL [LE 6m |7KE BKE
HAE6THS52%10 1:1.2 REBALLEEHE |hE Az 1thE
(8) - 4 w2 Tk 950m | (60, 200)
SWVFETRIBER 147,000( 205 [EE:] PIRREO—RBEENZL [E 6m |Ki&E A#1H
RKRE7TH74% 135 1:1.2 F i HiE HR 2 #[h
(8) -5 w2 Tk 1.1km | ( 60, 200)
SWVFETRIBER 117,000 195 [EE:] PRRE—REENZOK [FEH Tm |7KE A#1H
* RFEFPAFHAREA1117%E35 1:1.2 EEALLI-EEHE i AR 185
(8) -6 LS2 Tk 1.3km | ( 50, 100)
SWVFETRIBR 169,000 156 [EE:] —BEEDOFRIZT/A—b, [BEE 6m |7KE BKE
HAE2TE39%14 1:1.5 BESESELRAONIRE |mE HR 1{EZ
(2 -7 w2 BEFOEEHE Tk 510m | ( 50, 100)
SWVFETRIBR 130,000( 165 [EE:] PIRE—REEDEMIC [ 4m |KE A#1H
AKHEHET2TES11%4 12 FIR—rDEoNDIEEH |HE HR 1EZ
(8) - 8 w2 = Tk 800m | ( 50, 100)
SVFEFTREBR 108,000 111 F=E REFEREL-DEEE (R  42m|KE XFH
AFEPAFEHA787F645 1:2 Hhigh HiE HZ 1HhE
(8) -9 w2 Tk 2.2km | (60, 200)
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SWVFETRIBER 169,000( 165 [EE:] —BEEOFRIZT/A— [dE 6m |7KE BKE
HAE5TH58%6 1:1.2 ENREohBEEHIE i A= 2hE
(8) - 10 w2 Tk 530m | (60, 200)
SWVFETRIBR 129,000 123 [EE:] fUMRE—RREENZL [ 4m |KE A#1H
AFHET2TH1572%18 1:1.5 BIZTI—rERONDE |HE HR 1rhE #ERh
(8) - 11 w2 Eihig Tk 680m | ( 60, 200)
SWVFETRIBR 117,000 120 [EE:] —REEDE-ATIX |EHE 6m |7KE A#1H
KFEEPAFARI62F12 1:15 EEREL- e mE HA 1EE
(8) - 12 w2 Tk 1.7km | ( 50, 100)
SVEFEFTREBR 110,000| 108 F=E INRE—REENSVE R 42m|KE xXE
KFP)IFIREF35%F 14 1:1.5 B E iz FhE 1EE %[
(8) - 13 w2 Tk 2.9km | ( 50, 100)
SWVFEHRIBER 287,000 163 EHERS |[EH. SEMEN R |4t 18m |7k RBKE
* RAE4THOES 115 | BT SERATE i B2iE HR [EEJES
(8)5- 1 S3 TK 180m | (80, 400)
ShkFERR |V FETRRER 151,000 165(&% [IF= hIRE—REENZME (B 4m |K:E EXaZ N
Ftig2TH281%3 115 Ehig HiE HR 1EE %[5
(8) - 1|l tig2—-6—3] W2 TK 1.2km | (60, 100)
SW-FEmHRRE 276,000 121|&B% (&= dfUNREBEO—BEE. & |& 4m [kE 5%
HHhE4TH240%5% 1.5:1 REEEDRETIEE |HhE HZR 152
(8) - 2|l gfihB4—17—7] w2 Hugl Tk 800m | ( 60, 200)
SWVFETPRE 155000 166 [EE:] —REEQFHERE |FE 4m |KE EXaZ N
#%E2TH1546%5 1:15 E. BENRONDEEM|thiE HR 1E2 %[5
(8) - 3|lHE2—9—4) LS2 o] Tk 1.3km | ( 60, 200)
SWVFETHPRR 257,000 103 [EE:] fMREO—REENS [H 4m |K:E EXaZ N
AHR4T H625%23 1.2:1 VERF T £ e HR 1HhE #ERf
(8) - 4[TAHE4—22—9] W2 TK 830m | ( 60, 200)
SWVFETHPRR 308,000 171 [EE:] FNMREO—REEEZD [F 4m [JK3E 58
+%Z&4TH1140%7 1:1.2 ZUMEEHE HiE HZR 1ER
(8) - 5[TEEE4-7—7] W2 TK 550m | ( 60, 200)
SWVFERPRE 270,000 102 [EE:] —BEEOMT/A—rEE(I 6m |7K&E M55
AF6THO919%3 1:15 DERITEL VE EHbig HiE HR 1EE
(8) - 6]l XF6—5—81 W2 Tk 350m | ( 60, 100)
SWVFERHPRE 278,000 164 [EE:] FEEERUHEREEN |A 6m |K&E M55
#Ha2TH677%2 1:15 ELISREBEEBND |HiE HZ 2XF #[h
(8) - 7|(AEBRADOSHK10) w2 FE Tk 370m | ( 60, 200)
SW-FEmHRE 321,000( 119|&BR |[EHFERE [NFEH. ERGREE |1 20m [/K&E 5%
T%&2TH787& 145 1:15 | & HEL I SERAEY ALY | BEE AR plid:: ]
(B)5- 1| F&EE2—19—15] s3 D E I Tk 500m | ( 80, 200)
SWVFERHPRX 249,000 429 [ESFEE NEESH. ZEREFESEN |4t 16m |7k M55
AXF6TH806&F74 121 |REE |BETIREEXME @8 EER
(8)5- 2[TKF6—11—15] RC4 Tk 550m | ( 60, 200)
SWVFETHPRR 169,000 958 EHFE |EHEOEMENEE B 44m K& EXaZ N
LiE4TH409% 15} 151 |BE EX R SE S:e Ei& T MR
(8)5- 3|l tigE4—14—9] S2 TK 950m | ( 60, 200)
SW-FEmHRE 330000 237|&% [FEXBFR (REBRENEDESH.E |E 20m [/K&E m5%
* #BA2TH744F 15 1.2:1 BETAEDERATAE i | HR SRR BHX
(8)5- 4| (FA5EERTED 13# X644 S4 mOfAE | TK 160m | ( 80, 300)
SW-FEmHRRE 825000 778 EHEE |SBOERESHAEL [ 25m |7K5&E 5%
HED 41454 1:1.2 | ELNELLSEEME (B A= SE DY
(B)5- 5 S8 B OAE T 250m | ( 80, 500)
SV FER SV FERRER 132,000 165 [EE:] fNMNREO—REEED (A 4m |KE M55
BTA3TH206%17 1:1.2 ZUMEEHE i HZR 1R
(8) - 1[TRAT83—26—15] LS2 Tk 2.3km [ ( 60, 200)
SLVFETREX 222,000 106 [EE:] INRE—RREENBLME [ 43m [kKE&E FEE
HE3THE1049%1 1115 Ehig iE HZR 1ER
(8) - 2[TES3—19—3] W2 Tk 450m | (60, 200)
SV FERREE 126,000] 131 F=E dUNREO—BEE. 7 (|1t 5m [/ki#E m5%H
AFAARERF TEA607%F14 1:15 N—ENRONDEEH |fE AR 1ER
(8) - 3 w2 o] Tk 2.9km | ( 60, 200)
SLV-FETHRE 135000 221 [EE:] FMREO—REEDIF [t 4m |KE M55
KFERARFA585%13 15:1 MTNR—rELROND [hE HR 1R
(8) - 4 LS?2 i Tk 2.2km [ ( 60, 200)
SLV-FETHE 72,700 230 F=E BihDDhIZEREERV (4 4.5m [kKE&E B5E (AR
RFZERFR#M 1652 1:1.5 —MRAEENBAET B [
(8) -5 w2 Tk 4.5km | (60, 200)
SLVFETHE 192,000 65 [EE:] INRE—REENBVR B 4m |KE M55
HEE7 TH683%14 1.2:1 EEARLLI-EEHE Fh3E H=R 152
(8) - 6|[[FIE7—6—111 W2 Tk 1.3km | ( 60, 200)
SLVFETHEX 132,000 79 [EE:] INREOEFTEENES (A 4.2m [kE&E EXaZ N
AFAfF=EH25%23 1:1.2 it SEE S i AR 2thE #[f
(8) -7 w3 Tk 2.3km | (60, 200)
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SV FERHEE 187,000 2,117 BE BE-Ext 59— 56 (¥ 44m |JKE B
BT84 THO5%E 14 1.2:1 ENRET HithiE EE HR T
(8)9- 1|TH&®4—7—21] S2 4 fAE | FK 1.9km | ( 60, 200)
SWOEBER| SO EHHIIR 216,000 210 F=E PIRE—REELSZOEA (4 41m [kE 5%
EKRiBE6 TE519%6 1:1 T i i HZR 1rhE #p5
(8) - 1[TEXRIFE6—21—13] LS2 Tk 1.1km | (60, 200)
SLVFETHANR 445,000 179 F=E PIHRE—-REESENZL (A 5.4m |7KiE pE]
* FET3TH131&1 1:2 REBAELEEHE |hE A=z 1R G
(8) - 2[T=H83—1—19] W2 TK 670m | ( 60, 200)
SV FETHANRX 285,000 1,120 HEFEE |d/MRE—REE. 7Y |[dE 8m |7KE deiwFn
LHEMETH138% 1:3 DAVENRET HIEEM [ A= #ET
(8) - 3[rdLimF15—11—18] RC4 2] TmEiE |FK 700m | ( 60, 200)
SLVFETHANX 346,000 165 F=E PIRE—REENZOEA (X 6m |7KE deiwFn
* dbi@F01 TH39%2 1.5:1 T i i AR 1R %5
(8) - 4[ldeiEFi1—5—12) W2 TK 400m | (60, 200)
SLVFETHANX 323,000 293 F=E PEREO—RBEENZL [ 5.4m |/KE&E deiwFn
HESTHA41E 1.2:1 REEALLEEME |hiE HR IR %5
(8) - 5[l&E#E5—-4—-15] W2 TK 900m | ( 60, 200)
SLVFETHANRX 282,000 195 F=E PIRREO—BEENSBL [E 4m |KE pE]
AX2TH171%3 1:2 FEHEOBRIMEEME  (fAE HX 1EE %8
(8) - 6|lAK2—29—21] W2 Tk 730m | (60, 200)
SLVFETHANRX 346,000 137 F=E PIRE—REENZME [FEH 6m |7KE pE]
HFET 125834 1:2 Eis & HR 1B #05
(8) - 7[THEE112—18] S2 TK 960m | ( 60, 200)
SLVFETHANX 171,000 101 F=E FMREO—REEDIF [E 4m [JK3E deiwFn
HrIE1TE112%3 1:1 N R—rELHLNDIE |HE AR othEs #E[h
(8) - 8|r#E~r51—40—23] w2 Eihig Tk 1.8km | ( 60, 200)
SV FETHANRX 360,000 161 FEFRE |FEE=E.E8v a3y |A 5.5m [K& B
HIHET23 %1 12 |E ENRETHESE | H= 1R %5
(8) - o[l {FHT27—10] S3 TK 350m | ( 60, 200)
ELVETHIR 372000| 124 B BB |hEQEHFAEELNS (LR 16m|7K3& JtiEFn
HWITH215%1 151 [FRPEE hEmncomkths |8 H2 L LS
(8)5- 1|I%#3—18—23] RC6 TK 350m | ( 80, 400)
SWVFETHANRX 583,000/ 330 EWHES |DEOEH. BEMEL |’ 10.5m [7K& pE]
ERI7THO%E 1.3 | EFNRONSPILERL |BE HR EE A
(8)5- 2|TERT7—1—7. RC6 DEE I Tk 500m | ( 80, 400)
SW-FEHHR 377,000 239 EXEME [PEBOEBERELNE & 16m (k& pE]
fHET4 T B13%2 115 [REEE (VEEAVOEEME (EE HR SE X
(8)5- 3|[{hBr4—2—22) RC6 TK 1km | ( 80, 400)
SLVFETHANX 910,000 84 EHES |REOEH. SEMEL @ 18m |7k pE]
Ei2TH150%545 21 |B MRS IS B =g HR [SE 0
(8)5- 4|[l&#2—-4-3] RC6 wOfAE | TK 450m | (80, 400)
SLVFETHANRX 680,000 156 JEEFEE |H/MREDOEHELLE @ 5.4m [K& pE]
* HET1 THO7&H1 11 |REMEE |5l SEEAE i i AR FSE 01
(8)5- 5[[{hBT1—6—1] RC5 TK 170m | (80, 400)
SV -FEHHIR 1,010,000 337|FREWH [[EHBHK (PEEHEILHIEDRA [FR Rk [KE pE]
HIhET70%E 194+ 11 |FTERER | DO Fh5E AR o
(8)5- 6| H{THT1—23] RC5F1B TK sREnssiEE| (80, 400)
SUVVFER SV FETER 128,000 115 [EE:] INRE—REELIELL (R 4.8m [kKE&E G
WA4TH361E45 1:1 SEEHE HiE HR 1EE
(8) - 1[MKk4—6—2) W2 Tk 1.6km | ( 60, 200)
SWVFERER 294,000 100 [EE:] INEE—REELIELL (&R 4.3m [kKE&E s
* BEFR4THS37%2 1:1 SEE i i HZR 152
(8) - 2[EEFH4—9-5] W2 TK 800m | ( 60, 200)
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